EEER

SMS5F 4R 23T HATHESBRE—ARE
ReR
Bl LHOBEEH B R & K B OR X

5 138, 836.A 47,786 A 34.42%

z 143, 158 A 51,079.A 35. 68%

&t 281,994 A 98, 865.A 35. 06%

2. HEHBER ("BRIR

BRIE | HEA = w &= 4% 5 I " EFE X
1 O T BE 5 W © ITERIETR 5,279. 000E
2 O INRE S KL BAR#EFOS 4,618. 849E
3 O K T WE &KH ' B R 4,267. 000E
4 O XHE bV 5 | SERERYE 3902. 000
5 O -2 & hHh HEH EREREIXTR 3,685. 000
6 O Bl BT 2K B B R 3,510. 000E
7 O F O + v L BEHERKIEXTR 3,383. 264E
8 O wEw 5 F | GETEEVD 3165, 624%
9 O A E &S C A B 5 2,966. 000
10 O & 5 I TERIEIR 2,939. 000E
11 O (U I S A N O /NI 5 2,697. 000
12 O K EFrLIFB 7N BR 5 2,588. 010E
13 O W g H R E 7N BA 5, 2,557. 000E
14 @) X 7= L ¥ 3 7N BA 5 2,534. 989E
15 O B & T BEHERKIXTR 2,447. 000E
16 O VI =l O N ITERIETR 2,404. 000E
17 O F ok os | BEWERVE 2343 000
18 O T H 4B F BEHERKIXTR 2,292. 000E
19 O T <X b B X B B RE 2,256. 000




BRIE | ZEA = w & 4 5 I " EF X
20 O ws = n» 8 i A == 2,220. 000E
21 @) n» < b5 5 B i I == 2,186. 988E
22 O SALRELCL 7N BA 5 2,168. 000
23 @) XEHE & &£ 5 i3 A == 2,164. 000E
24 O s r=hmL B B OR 2,099. 000E
25 O E BH n v C = E = 1,999. 000E
26 O K & & & L B B OR 1,952. 000E
27 O T < A b =| * E R 1,927. 206E
28 O Xfmm@AxEL =| * E R 1,910. 000E
29 O N HE K F i [ == 1,864. 150&
30 O F B & T BB i A == 1,828. 000E
31 O I#HmLw 5L =| * E R 1,827. 000E
32 O w B U T & ® B B 1,765. 000Z
33 FOMrT E = E = 1,733. 747E
34 Bl S & =| * E = 1,530. 000E
35 F £ € b B = E = 1,354. 000E
36 g ) = < Z B 5 1,293. 389E
37 B F — N H K % 1,021. 169E
38 ShTHVBHT | DHERIRAD 848. 000
39 E 3 & £ 8 i B 750. 000E
40 s B = — B B OR 650. 000
41 Al O TEH i A == 568. 610E
42 EAHAPITOT i3 B 507. 000E
43 NAVHES DL =| W E R 449. 000E
44 7 W E FH B B OR 437. 000E
45 W KX & X B8 B B 291. 000E
46 Hef &L FS i [ == 286. 000E
47 BB K = B B B OR 64. 000=




3. HERKRE (BHIR)
JEHIE | ZHFEA = w & 4% 5 I " EF X
1 O -2 & hHh HEH EREREIXTR 3,685. 000
2 O w B U T & ® B B 1,765. 000Z
3 O wsE = n» 8 = i B 2,220. 000E
4 O T < A b B X # E =% 1,927. 206E
5 O ® < b &5 H B B R 2,186. 988E
6 O XHE bV 5 | SERERYE 3902. 000
7 O W g H IR E YN BR 5 2,557. 000E
8 O K EFrLIFB 7N BR 5 2,588. 010E
9 O (U - S A N O YN BR 5 2,697. 000
10 F W E § B B RE 437. 000E
11 Hef &l FS i A == 286. 000E
12 @) X 7= - L ¥ % 7N BA 5, 2,534. 989E
13 BB K = B B B OOR 64. 000=
14 g ) = < Z B 5, 1,293. 389E
15 O s r=hmhL B B OOR 2,099. 000
16 O XEHE & &£ 5 i3 [ == 2,164. 000E
17 W KX & X B8 B B 291. 000E
18 FOMrT E BEHERKIXTR 1,733. 747E
19 F & € b B BEHERKIXTR 1,354. 000E
20 O F ok os | BEWERVE 2343, 000
21 O wEw 5 F | GETEEVD 3165, 624%
22 O T < b B X B B RE 2,256. 000
23 O 1N I =l O N ITERIETR 2,404. 000
24 O Xfmm@AxEL B X # E = 1,910. 000E
25 O T H 4B F BEHERKIXTR 2,292. 000E
26 O T BE 5 W E ITERIETR 5279. 000E
217 @) I#HmLw 5L B X # E = 1,827. 000E
28 O Z & 5 I ITERIETR 2,939. 000
29 EFH/®XDLT OT i3 B 507. 000E




fEHIE | ZEA = w & 4 5 I " EF X
30 O Bl T >2< B B B 3,510. 000E
31 ShTHVBHT | SHERIRAD 848. 000
32 O N HE K F B B RE 1,864. 150&
33 O AL RELCL YN BA 5 2,168. 000E
34 O E BH n v C BEHERKIXTR 1,999. 000E
35 O K & & & L B B B 1,952. 000E
36 O KT WEKH B B RE 4,267. 000E
37 B EF S EF B X # E =% 1,530. 000E
38 O A E &S C 2 B % 2,966. 000E
39 E 3 & £ 8B i B 750. 000E
40 O N E S KL BAR#EFOS 4,618. 849E
41 s B = — B B OR 650. 000
42 O F O (+ v L BEHERKIXTR 3,383. 264E
43 O B & T BEHERKIXTR 2,447. 000E
44 O F B & T BB B B B 1,828. 000E
45 W B FE — N H K % 1,021. 169E
46 Al O TREH B B OOR 568. 610Z
47 NAVHEES DL = N - 449. 000E
¥ B & X 98, 863
¥ R OB K 98, 863
|0 B E 97,527. 995
B Y KB R 1,335
r* =2 ® 0
B o5 B Y 2




